
BTF243 Issue 5
ISO9001 & ISO14001 certificated

Copyright © 2023 BRITISH TURNTABLE CO LIMITED all rights reserved.
Movetech UK is a trading name of BRITISH TURNTABLE CO LIMITED

Registered in England. Company number 00666055. VAT No. GB 408 148 755
Logos and trademarks are registered trademarks or trademarks, registered or used

in jurisdictions worldwide and are the property of their respective owners
and are used by the owner or under licence from the owner.

Movetech UK, Emblem Street, Bolton, BL3 5BW, United Kingdom

Since its acquisition of Hovair® Systems, 
Movetech UK has continued in-house design  
and manufacture of standard and bespoke  
air film movement solutions.

Movetech UK offers a range of steerable air powered
tuggers to move air film supported platforms or wheeled 
trailers with ease and in complete safety.

Designed for one-man operation, they offer a simple and 
economic method of motorising any number of
air pallets or wheeled bogies

Hovair® tuggers operate from a normal workshop air 
supply with a minimum of 5.5 Bar (80 psi) pressure and 
are capable of moving, in standard form, up to 120 tonnes 
on air and 25 tonnes on wheels or rails. Available in a 
range of models to suit different applications and power 
requirements.

Tuggers are portable and easy to move between 
workstations using the rear trundle wheels, allowing them 
to be moved independently of the air supply.  
 
When used with air film equipment, all controls can be 
grouped at the tugger handlebar.

Pneumatically propelled and manually controlled, 
Hovair® tuggers are ideal for use in areas that are 
unsuitable for electric or diesel-powered units, such  
as hazardous or pollution control areas and offer: 
 
• Ease of use
• Easy alignment
• Intrinsically safe characteristics
• Labour saving properties
• High manoeuvrability with 180° of steering
• Low maintenance costs – very few moving parts

+44 (0)1204 525626           info@movetechuk.com

Page 1 of 2

Hovair® Air Powered Tuggers are used in a wide variety of industries, including: 
• Aerospace – for moving components such as wings, fuselages, helicopter blades and aero-engines
• Nuclear – for moving flasks, shielding and waste containers
• Factories – for production line transportation, tooling relocation and product movement
• Glass – for loading autoclaves, moving sheets and packs
• Rail – for the refurbishment and production of coaches, light rail and trams
• Offshore – in oil rig applications, cable drums and containers

Hovair Air
Powered Tuggers

®

Scan QR code or visit our YouTube channel 
to watch a wide range of product videos:
www.youtube.com/MovetechUK

Visit our dedicated Hovair® website:
www.hovair.co.uk



Our dedicated team of engineers and trained technicians will offer advice and assistance to any query we believe 
falls within our expertise, always with a mind to ensuring the goals of quality, safety and value are delivered.

BTF243 Issue 5
ISO9001 & ISO14001 certificated

Copyright © 2023 BRITISH TURNTABLE CO LIMITED all rights reserved.
Movetech UK is a trading name of BRITISH TURNTABLE CO LIMITED

Registered in England. Company number 00666055. VAT No. GB 408 148 755
Logos and trademarks are registered trademarks or trademarks, registered or used

in jurisdictions worldwide and are the property of their respective owners
and are used by the owner or under licence from the owner.

Movetech UK, Emblem Street, Bolton, BL3 5BW, United Kingdom

Page 2 of 2

+44 (0)1204 525626           info@movetechuk.com

Model Capacity 
(On Air)

Length 
(mm)

Width 
(mm)

Height 
(mm)

Weight 
(kg)

Air Consumption 
m3/min (SCFM)

TUA200/01 8 1,080 440 1,000 90 1.27 (45)

TUA200/02 12 1,080 440 1,000 90 1.27 (45)

TUA200/03 25 1,080 440 1,000 100 1.84 (65)

TUA200/04 30 1,080 440 1,000 100 1.84 (65)

TUA500/01 40 1,420 770 1,020 270 1.27 (45)

TUA500/02 60 1,420 770 1,020 270 3.68 (130)

TUA500/03 90 1,420 770 1,020 270 3.68 (130)

TUA500/04 120 1,420 770 1,020 270 3.68 (130)

Air Tugger Specifications

Hovair Air
Powered Tuggers

®

Features
& Options

• Twist grip handlebar control for forward and reverse motion with variable speed
• Robust attachment mechanism with swing down lock arms for positive docking
• ’Auto dock’ option where access is limited
• Built-in water filter and oil reservoir to protect and lubricate air motor
• Polyurethane drive wheel, with or without tread to suit application

SECTION ON A-A 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

REMOVE ALL BURRS & SHARP EDGES
IF IN DOUBT ASK     DO NOT SCALE

QTYPART NUMBERDESCRIPTIONITEM
1BT5135CHASSIS WELDED ASSEMBLY1
1BT5139HANDLEBAR ASSEMBLY2
1BT5146LINKAGE ASSEMBLY3
1BT5149FLEXELLO SWIVEL BEARING4
1BT5150SWIVEL ARM ASSEMBLY5
1BT5154TUA203/204 DRIVE ASSEMBLY (V4)6
1BT5160REAR PANEL ASSEMBLY7
1BT5161 - Item 1ACCESS PANEL8
1BT5161 - Item 2SIDE COVER PLATE9
1BT5163DRIVE COVER PLATE (V4)10
2BT5164DEFLECTOR ASSEMBLY11
1BT5165TRUNDLE WHEEL ASSEMBLY12
3BT5166SUPPORT PILLAR13
1BT5130VERSA VALVE (MODIFIED)15
27010-3/43/4" BSP MUFFLER16
4 M16x45 HEX HEAD SCREW17
4C-050-M16x0-12-ZPM16 SPRING WASHER18
4C-050-M16x0-09-ZPM16 STEEL WASHER19
4 M12x30 HEX HEAD BOLT20
8C-050-M12x0-12-ZPM12 SPRING WASHER21
8C-050-M12x0-09-ZPM12 WASHER22
3 M8x16 HEX SOCKET CSK SCREW26
4 M6x16 CAP HEAD SOCKET SCREW27
4C-050-M6x0-12-ZPM6 SPRING WASHER28
4C-050-M6x0-09-ZPM6 WASHER29
18 M4x8 HEX BUTTON HEAD SCREW30
4 M12x25 HEX HEAD BOLT11

A

A B.TC. WORKS No. S GENERAL TOLERANCE : +/-        mm
ALL DIMENSIONS IN MILLIMETRES (mm) UNLESS OTHERWISE STATED

THIS DRAWING IS THE SOLE COPYRIGHT OF THE BRITISH TURNTABLE COMPANY LIMITED (B.T.C.)
& CANNOT BE COPIED IN PART OR IN WHOLE WITHOUT PRIOR WRITTEN PERMISSION OF B.T.C. LIMITED.

" PROTECTED BY DESIGN RIGHT "
TITLE:

3rd ANGLE
PROJECTION

HOVAIR SYSTEMS: A DIVISION OF
BRITISH TURNTABLE Co. LTD
EMBLEM STREET
BOLTON, LANCS
ENGLAND. BL3 5BW
TEL No. (01204) 525626

DRAWN
CHECKED
APP'VD

DRAWING No. ISSUE

SCALE

DATE

TUA203 & TUA204 TUGGER ASSEMBLY (V4)
WITH LOW PROFILE ATTACHMENT

CW
 
 

10-04-07

BT5134 2
(A2) 1:6

  

1

2
3

4 5

6

7 30

830
9 30

1030

11

12

13 26
15

16

202122

112122

17 18 19

27 28 29

NOTES:
 
1. FIT PNEUMATIC COMPONENTS FROM DRAWING BT5130 WHILST 
ASSEMBLING TUGGER
 
2. MAKE SURE THAT THE TWIST GRIP HANDLE IS GREASED
 
3. ADJUST THE TWIST GRIP SUCH THAT EQUAL SPEED FORWARDS AND 
REVERSE IS ACHIEVED ALONG WITH FREE RETURN TO OFF POSITION
 
4. THE TWIST GRIP SHOULD NOT BE ABLE TO LOCK OVER CENTRE
 
5. ENSURE THAT THE MOTOR IS NOT RUN WITHOUT AIR-LINE LUBRICANT
 
6. FIT SUPPLY HOSE, SWITCHES ETC AS PER CONTRACT REQUIREMENTS


